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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |

sentence. Then mark your answer sheet.

1- Being an honest person, she was unwilling to --—------ Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede

2- The girl is surrounded by so many possessions that testity to her family's -=====ve-- .
1) opulence 2) activism 3) propensity 4) elitism

3- The physician advised the —-------- man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese

4- Enlightened slave owners were willing to —————-- their slaves and thus put an end to
the evil,
1) initiate 2) emancipate 3) efface 4) reject

5- One of the most striking aspects of Indian cultures was the production of ceremonial
costumes and ornaments worn during religious ~——-——---,
1) rituals 2) subtleties 3) fashions 4) prefaces

6~ The Clarks’ ~===—==v-- spending habits have put them in debt.
1) extemporaneous 2) divisive 3) extravagant 4) passionate

7- The people who had lost their homes in the fire tried to --—---—- whatever was
salvageable from the ruins of that fire.
1) confront 2) extinguish 3) exclude 4) glean

8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -------—-- some of Alzheimer’s devastating mind-robbing symptoms.
1) emerge 2) predict i) alleviate 4) precede

9- Coaches often tell their players that a little nervousness is good because it keeps them
on their —---——-—,

1) limbs 2) toes 3) fingers 4) feet
10- Without liquids or food, people typically -—--——- after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Like most people. students tend to be overconfident about newly learned skills. This self-
assessment problem can occur because the common educational practice of “massed training™

promotes rapid acquisition of a skill—and self-confidence—but (11) —=-==m=es- retention of that
capability. In mass training, instructors teach students in one or a few intense sessions.
Students (12) —--—---- such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidly, (13) -—---—-- people remain unaware of this fact. (14) ——=—m-mmmv
more evident than in driver education. Although millions of dollars (15) --——--—- on such
courses, they do not, the data suggest. produce saler drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4} for no necessary
12- 1) undergo 2) undergone 3) by undergoing 4) undergoing

13- 1) although 2) however 3) so that 4) then
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14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

16-

17-

19-

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage I:

As the cost of gas and oil for home heating went up, many Americans switched from these
fuels to wood for heating their homes. In 1973, approximately 200,000 wood-burning stoves,
intended for name use. were sold in the United States: by 1979, this figure had reached one
million: and by the end of 1981. there were as many as seven million home-owned wood-
burning units in operation in the U.S.

In addition to low fuel bills and their low initial cost (prices ranged from $50 kits to $5,000
top-of-the-line models), many people chose these stoves because new technology made wood
fires more efficient. cleaner, and, theretore, safer than ever before.

One new technological feature of this type was the catalytic coinbustor which added about
$100 to $200 to the cost of the stove. but which caused much mare complete combustion of the
wood and therefore burned up more of the pollutants left by incomplete combustion and
produced more heat.

A second cost-saving innovation was a device which agitated the wood. increasing the
amount of oxygen that reached the center of the wood pile, and leading to more efficient
combustion. The real advantage of this device was that it allowed the owner to make use of
cheap sources of wood such as dirty wood chips (an industrial by-product) that have almost no
commercial value, cost as little as $20 a ton. and burned very inefficiently in furnaces without
an agitator.

According to the passage, the number of wood-burning stoves sold for home use --——--—-- .
1) rose to seven million during the seventics

2) went up five- fold over a six-year period

3) increased by 6.800.00 over an eight-vear period

4) multiplied thirty-five times between 1973 and the beginning of 1981

According to the author, which of the following is NOT a factor in the recent increase in
popularity of wood-buruning stoves?

1) The wide range of prices

2) Their greater cleanliness than in the old days

3) The high cost of alternative heating fuels

4) The relatively cheap cost of their energy source

Which of the following is an example of an innovation in wood-burning stoves?

1) Dirty wood chips 2) The catalytic combustor

3) Industrial by-products 4) § 5000 top-of-the-line models

Which of the following statements is NOT true?

1) Wood-burning stoves with catalytic combustors cost between $100 and $200.

2) Wood-burning stoves are safer and more efficient than they used to be.

3) Both catalytic combustors and wood agitators save money in the long run.

4) No factories exist for the purpose of producing dirty wood chips.
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Which of the following statements is true according to the passage?

1) Some wood-burning stoves cost up to one hundred times more than others.

2) Catalytic combustors increase the amount of pollution caused by wood-burning stoves.

3) Agitators are a cheaper addition to wood-burning stoves than catalytic combustors.

4) Many Americans have switched from hydrocarbon-based fuels to wood because the price of
the latter has risen.

Passage 2:

As the number of multinational corporations increases. cultural issues have become more
important. Companies must pay attention to cultural trends. governments, and economic
situations in dozens of different parts of the world. They must also maintain offices, hire and
manage workers, and obey laws in many different countries. Holiday schedules alone can
cause big problems.

Finding workers with the right educational background, work experience, and language
skills can also be very difficult. And the workers who have all these things are in high demand.
Multinational corporations have to attract workers as well as customers. General Electric
invests a lot of time and money in its international workforce. It offers high salaries, but also
personalized leadership training, special assignments, and big bonuses.

Multinationalism is not the only reason for the changes in business in the 21" century. With
the rise of computers and the Internet, business practices have had to become much more
flexible. In the past, corporations were very secretive. Competitors. and even customers. had
little information about how a company operated. But computers and the Internet have made it
possible for people to educate themselves. They have the information and the ability to take
care of many needs on their own.

What does the passage mainly discuss?

1) The role of cultural issues in business

2) Challenges faced by large corporations

3) Changes in business in the 21% century

4) The increasing number of multinational companies

Why does the author refer to General Electric in paragraph 27
1) To exaggerate lack of educated labor force in this company.

2) To discuss the characteristics of a multinational corporation.

3) To provide evidence for an idea stated earlier in the passage.

4) To list the benefits this company provides its workforce.

The word "their" in the last line refers to —-—-—-—-—-- .
1) abilities 2y companies 3) computers 4) people
According to the passage, today’s companies ----=--------- ;

1) are in need of more educated and more skilled workforce

2) pay little attention to the conditions at the workplace

3) prefer attracting customers to hiring highly qualified workers

4y are unwilling to hire workers from different linguistic or cultural backgrounds

With which of the following statements does the author least probably agree?

1) Corporations need to find a way to make the Internet useful for their business.

2) Competition between companies has increased since the beginning of 21* century.

3) Today’s companies may have to trade ideas and information with their workers and
customers.

4) Companies have stopped competing and started working together to increase the success of
their practices.
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Passage 3:

Current virtual reality (VR) technology grew out of developments in the flight-simulator
industry. The skills needed to fly a plane are incredibly complicated. and the ability to land at
different airports requires careful practice. The dangers of practicing in real aeroplanes have
been avoided for a long time by building an artificial cockpit with controls linked a simulation
of the real plane. Pilots in the simulator see and feel nothing but the artificial world and have
direct control over 1L

Today's still quite limited technology is now quietly being used for all kinds of projects _

planning telecommunication systems, designing drug molecules, and. in Japan. a scheme has
already been successfully developed to use VR in furniture showrooms so customers can plan
the layout of new kitchens. The plan is to integrate this with a complete computerized system —
s0 the virtual kitchen designed by the customer goes through an automated process until
delivery to the home.

lain Brown, a psychologist from Glasgow University, is worried that virtual reality will be
extremely addictive. He has studied children whose dependence on computer games makes
them behave like drug addicts, They spend all their money on arcade ganies and sometimes
turn to crime to pay for their habit.

Some psychologists think computers can be addictive because they are so predictable. Real
life is often hard to control. but a computer will always do exactly what you tell it to. For some,
to sit in front of a screen is to be secure. Brown worries that people who spend a lot of time in
simplified. virtual worlds might not develop many of the skills they need to deal with the
uncertainties of real life. But VR enthusiasts prefer to talk of the exciting possibilities like
becoming a musical instrument or a robotic insect on Neptune.

The passage discusses all of the following EXCEPT >

1) the early davs of VR 2) practical applications of VR

3) psychological effects of VR 4 the problems of simulated flying

The word "it" in line 6 refers to -------==can-- .

1) cockpit 2) nothing 3) real plane 4) the artificial world
According to the passage, in Japan .

I') customers can use VR to design some product

2) new kitchens are equipped with VR technology

3) VR is used to deliver products to the customer’s home

4) furniture showrooms are very popular with VR enthusiasts

According to the passage, lain Brown is concerned that

1) there is a danger of young people becoming drug addicts

2) losing touch with reality is more harmful to children than to adults

3) people will become unable to function properly in real world because they spend too much
time in virtual worlds

4) many children who become addicted to computer games cannot afford to pay for their habit

What is the writer’s purpose in paragraph 4?

1) To compare real life with virtual worlds

2) To discuss enthusiastic response from psychologists

3) To introduce a new VR revolution

4) To prove lain Brown wrong
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